	[image: cbse_white_bg]
	http://www.cbseguess.com/



GUESS PAPER-2013
CLASS-XII
SUBJECT: MATHS


[image: ]
      www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.aipmtguess.com | www.aieeeguess.com | www.niosguess.com | www.iitguess.com

image1.jpeg
[YE5D)

Fnd the akea of the civcle UYxXT+uy =g wWhich o intevion
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Find the area of the yegion £ (¢, 9) : 0
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Solve the duystr eg= (tar'y—==) by = (l+y)dx
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Hemogeneous or Linear Ly 4% (Do all big Questions). A1) NCERT EG.OF Homo -4 LINEAR.

A0l €516, €9 I1F Fx a5 (R & 10,13, Ep 22 (Page 4n) ExT-6 12,1u,15, Mmasc 25 27 (mg), <5 =5
428, M35 Q7 (wap), le,(wpce:o Rz

5D —> S5 D(Vnp), 5 o Plane Thoough inkevsechion - 2 plancs, Smagecgon pr-om a plane. 2 £5F -
2 Plane passing thavugh 2 ph- 4 L™ 0 A gover plane, PAKing travup A 2ps- % .L"A:agﬁvalanz
orSapety Atooclo, Cos'tlos Pt losr +Gs’S = U/3 .
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